MiSSing huhbker proklens

Find the missing value for each calculation.
a+64=92 3xf+l=3l

Find out what
number each letter

represents. 1) 45xg=180

€ 2xh=25+h

2xb+a=14
2xa+b=13

Find out what a and b are.
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025+0=5
Q3Xb=|5 b:D ox+20=36
_10=25 y=[1 O 7xc=2 D

() x+6=14 X = °q+b+2=20 b=D

Remember,
each letter is just a
missing number!

Write pairs of numbers which could
make each calculation work.

O 45+a+b=55 B m+7+n=15

® B-c-d=6 @ 3xgxh=30

Write your own equation with an unknown voluer
in it. Work out the answer and test it on a partnet

g I am confident with solving missing number problem*




On your own, or with a partner, solve these problems.

a+45+b=54

a + b must equal 9.
Looking at the second
equation, b — a must equal 3.
So b must be 6 and
a must be 3.

Think about what the numbers could be for the first

equation in each pair. Use the clues in the second
equation to find what the numbers are.

@ c+25+d=35 c-d=2 c=] d=[]
€ axbx2=24 a-b=I a=[] b=[]
€ 346-x-y=27 X-y=5 x=] y=0]
@ 45+9+h=57 gxh=ll g=1 n=0]
) cxdx3=60 d-c=8 c=[] d=[]
D l-m-n=7 mxn=4 m=_] n-=

) 36+x=3y X+y=8 x=] y=01

‘@3 Ifc+d+5=cxdwhat could the numbers be?

} Iam confident with solving missing number problems.




ch calculation.

Find the value of the letter in ea

Find a pair of numbers that work in both equations.

Find the lengths of the missing sides.

@ 7-5cm “ ‘
4-8cm . 4

4

=

perimeter = 2lcm perimeter = 28:8cm

| Find the missing angles.
| )

lem. §

: I am confident with finding a missing value in a prob




